
Can determine rate laws
for chemical reactions
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Does not work ( initial rate method)
when reaction is faster than mixing



Relaxation Method
-

• Start @ Equilibrium
. change conditions
. Watch system "relax " to

a new Equilibrium
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Is the reaction exothermic [releasesheat)

or end-othv.me [absorbshat]

• ¥0 energy in the molecules

goes down in the reaction

heat released ,
exothermic case
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Consider exothermic
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Temperature dependence of rate carstarts
-
Rate of a reaction slows down
at low temperature

• How often collide &
how much energy
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diffusion in reactant basin
" Kramer's theory"



McQuarrie Ch 29 - Reaction Mechanism
-

Mechanism : Sequence of single step
elementary reactions

Reactants → Intermediates

Intermediates -s Products

Emotions
• we don't think has intermediates

• involves direct collision (interaction

aAtbB ⇒ products
← elementary
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Principle of Detailed Balance
-

@Equilibrium forward rate
& backward rate of every
elementary Egestion are equal
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Kf

aAtb B cc t DD
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Uf = kfc.AIYBJbvbek.cc/CDf
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for each elementary reaction

king = Kilkis
Detailed Balance links steps
•

In a reaction mechanism
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Aside som up reactions
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Next : How do we know if

a reaction is elementary
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